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£~ MNU 303a Bronze Outcomes 1-4
& Calculate
28-93 26-39 48-25
*+37:65 - 826 x 9

2135-78

& Ifp=7,q=2andr =4 evaluate;

(@ q+r

(b) »pq

4%~ MTH 314a Bronze Outcome 2

Complete the shape opposite
so that the vertical line is a
line of symmetry.

A%~ MTH 319a Bronze Outcome 2

_4 148 drivers were asked what their
favourite car was. The results
are shown in the pie chart below.

O Fiesta
| F 0 Clio
180° / OAygo
O Picanto

How many drivers' favourite car was Clio?

A%, MTH 321a Bronze Outcome 2

"Cost you less" are currently
selling 8 limes for £1-84.

"Quicksave" are selling 6 limes for £1-62.

Which shop is offering the best deal?
You must give a reason for your answer!

A%~ MNU 309b Bronze Outcome 2

My score:

What have I learned so far 61?
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&, Calculate 80% of $45.

2~ MNU 307a Silver Outcome 3

This map shows the distance
between Helensburgh and
Oban.

The scale on this
map is 1 cm = 9 miles.

places is 54 miles. What is the distance
between Helensburgh and Oban on the
map?

The actual distance between these two

JE-. MTH 317b Silver Outcome 2

o Solve the following equation.

8x+12=6x—4

4Z-. MTH 315a Silver Outcome 3

3 Calculate the size of the
missing angle.

61° \/73°

&~ MTH 317a Silver Outcome 2

& How far did a man run
in 1 hr 15 mins while
maintaining an average -y
speed of 6 miles per hour?

4%~ MNU 310a Gold Outcome 2

My score:

What have I learned so far 61?
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